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“The compound that cannot undergo addition reaction

is:
ih) Benrene

{¢] Butyne id) Sone of the above
Benrene gives more stable product when undergo:

{a] Cycloproanc

{a] Nucleophihic addimon reaction
() Ohidation reaction

{¢] Electrophilic substitution reaction
{d} Electrophalic addition reactwon

For callus femation, auxin and eytokinin are required
in which ratio?

{a] Balanced

{b) Only cytokinin required

{¢] Low auxin. very high cytokanin

{d) Only auxin

For which purpose myeloma  cells  (cancerous
Blymphocytes) are wed m the producton of
monocloml antthodies?

{a] Increased rate of coll dnasion

{b) Immunizaticen with antigen

{¢] To avoid conamination

{d} As nuinient in media
DNA polymerase adds nocleonde (w0 the 3° end of the

primer so the direction of replication will be?

¥ ] )
- 5123 ) 3 705

{c] 3’ end of the primer 1o 3’ end of template sirand

{d) ¥ end of wemplate strand 1o the 3’ end of the
Primer

The range of projecule is the same for two angles

w hich are mutually.

{a] Fr:rp:mlirul.lr ih) 5u|1'|1hmﬂl:lr]'
{c] Complementary (d) 270°

A wave of amplitude 20 mm has inlensity 1, another
wave of the same frequency but of amplitude 5 mm

has intensity |, what is 1 /1 7

{a] 2 lt:.'! 4 <) Hi]II (d) 256

The resistance of a device s designed 1o change with
lemperature, Whal is device?

{a] A light-dependent resistor

(b) A potential divider

(¢] A semiconductor diode (d) A thamistor

| enjoy Lemni.

{a] o play {b) plays (c) playing

{d) w playing

140,
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Catalytic converter reduces the emission of

(a) Unburnt hydrocarbons () CO
() 8O (d] All of the above
Whal » the name of the carboxylic acid given below?
LXK B XML
(0} Propane dioic acid (b) Pentane dioic acid
{b) Pentanc dcarboxylic acid
(d) Propane dicarbouylic acid

O™ |uiscnatiey + CHy(CHy), Br = product the nature
of OH " m the above reaction 1s:

(a) Nucleophile ih] Lewis hase
{c) Ligand (d] Al of the above

When the sperm count s high inhibit bormone release
mcreases which:

{a) Inhibits anterior pituitary relcase of follicke
stimulating hormone

ib] Increase ameror piturtary release of follicle
stimulating hormone

(e} Intabwt release of lutcinzang hormone

(d] Increase release of lntcmizmg hormone
Implantaton of embryo takes place in which week of
pregnancy’

{a) 1" (b 2 (e)3* ()4

XX-XY types of sex determunation pattern is present
in which of the following organisms?

{a) Humana (b} Bunerilics

(e] Grasshopper (d] Drosophila

When will | C of charge pass a point in an electrical
circunt”?

{a) When | A moves through a voltage of 1V

(b Whena powerof | W s used for 1 s

(e) When the current is 3 mA for 200«

(d) When the current s 10 A for 104

A cell of miemal rentant 200} and clectromotive
force (emf) 1% V i connccted to a reaistor af
resistance 3.0 () what is the polential difference across
362 resiator.

sV iMI2Y o2y (diDsV
In a stationary wave the distance berween consecutive

antinodes is 25 cm. if the wave velocity is 300 ms'
then the frequency of the wave will be:

{a) 150 Hz (b] 300 Mz (c] 600 Hz  (d) T50 Hz
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The path
through the path.

(a) bad been (b) was () has been
Choose the comrect sentence.

(a) Naila was so exhamted that she lain down for a
nap.

(h) Naila was so exhausted that she liad down for a
nap.

(€] Natla was so exhamsted that she was lymg down for
a nap.

paved. so we were able 10 walk

(d) being

(d) figlo was 5o exhausted that she will lay down for a
The bond energy of a & molecule H, - 2His

(2) 436 Kj/mol (b) 40.7 Kjfmol

(€] 272 Kjfmal  (d) 436+ Avoganm no Kj/mel

Considening  the molecule. orbital theory (MOT)
choose the correct relative energies onder.

i) ﬂﬂ' k?a ﬂ Eﬁ Fr F-

PN B B

tCI ﬂ“' l" f = k m! P.p F_p

@€ @ e & &, PP
The ouidation of pemt -l.ome (2-pentanome) wath
nascent OXygen gives:

(a) Fropanal (b) Propancic acid

(c) Ethanoic acid  (d) Pentanoic acid

If medulls oblongata of a person brain & dsmaged
which ol the following processes will be dinturbed”
(2] Thinking ih) Sleep

() Thirst {d) Swallowing

Otits media » an mflammation of which pan of the
body?

{a) Brain {b) Middle car

{c) Lungs {d) Urinary ract

In which of the following disorder the structure snd
function of normal spinal cond s damaged”

(2] Arthritis (b) Scaatica

(€] Spondyiosis idy

A stationary nucleus has nucleon number A The
nucleus decays by emitting a proton with speed » o0
form 2 new nuclews with speed u. The new nucles
and the proton move away from ooc another in
oppostite direction. Which equation gives » in terms of
Aand &7

(aAlv=idld=1}x (B)v={d=1]n

fclvedu djv=i{sf+1)a

ek

fd

1 B

E ¥l

n
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a person, avelling on a motorway a total distance of
200 km, travles the first 90 km at an average speed of
%0 km b, Which average speed must be obtained for
the rest of the jouncy if the person is to reach the
destination in 2 lotal tme of 2 hours O minutes?

() 110 km b (b) 122 km b

() 122 kem b (d) 126 km b

An object of mass “m" travelling with speed “v™ has a
hesd-on collision with another object of maw “m”™
travelling with speed “v™ in the opposite direction. The
two objects stick together afier the collision. What is
the total kowss of kinctic encrgy in the collison.

(a)0 mlzm’ ) m*  (d) 2am’

He anked me whal my name was and wht | did.

{a) He said 10 me, “What was my name and what did |
do™

(b] He said to me, “What s your name and what do
vou do™

ic) He said 10 me. “What my same was and what |
do™

(d] He said 10 me, *“What lis name was and what did
he do™
Four beakers containing cthanal, cthanol, propanane

and phenol separately. Aqueous bromine was added to
cach beaker. A white ppt was produced in one beaker.

Thas beaker contam:
(a) Ethancol (b) Phenol (c) Ethanals  (d) propanonc

To differentiuste between the white ppt of Jpc7 and
off-whate ppt of dgdl-we use:

() Dl Solution of Ay
(b] Dil Solution of AN ,
ic) Dil. Solution of A%,

(d) il Selution of £y,

T T

{a) Sheft's base  (b] Dinzomium sait

{c) Amide (d] Imine + Amide

If the pnmer anncaling wwmperature 1 increased 1o
94 . What will happen®

(afAnncaling {b) Extension

ic) Mo anncaling (d] Primer-dimer formation
Choose acids that are showing leveling effect.
NnAMy  w) A W) AT ) MF

a1 &w (b) i, i & iv

fc)in & v (d) i b, & i
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confirm that DNA was the hereditary material on the

basis of the finding thar:

(a] Radioactve phage were found in the pellet

() Radinactive phage were found in the supernazant

(€] Radioactive sulfur was found insade the ccll

{d) Radwoactive phosphonss was found i the cell

How many nucleotides are 12 mRNA codons™

{a) 12 (b) 24 (c) 36 id) 48

Which of the following s a suitsble vector 10 be

incorporated with a large extermal DNA fragment?

{a] Small stre vecior

{b] Large size vector

(c] Large size vector with no srcin of replication

(d) Small size vector with no srcin of replication

A value for the acceleranon of free Gll on Eanth s

gives as (10 £ 2) m s~ Which statement is comrect?

(2] The value is accarsic but not precise.

{b) The value is bath precise and scourste

{c] The value is nether precise nor accurate

(d) The value is precise bat not socurste.

error of the quantity being mvestigated”

{a) Adjust an smmeter to remove its Zero ermor before
measuring a currenlt

(b] Measunng several internodal distances on a

standing wave to find the mean miemodal
distance

(<) Measuring the diameter of 3 wire repeatedly and
calculating the average

(d) Timing a large number of oscillations 10 find a
peniod

A metal sphere of radius ¢ is dropped into 2 tnk of
waler. As it sinks at speod v. it cxperiences a dmg
force F given by F = k rv, where k is a constant. What
are the S | base units of k7

(a) Kgm' s (b) Kgm's*

{:jlilm'i"' id] Kg mas <
Choase the correct sentence.

(2] How long are you wearing glasses?

(b] How long do you wear glasses?

(<) How long arc you wear glasses”

(d) How long have you been weanng glasses?

A Camot engine working between 200 k and 400 k has
work output of 600 J are cycle. How much heat encrgy
is supplied to the engine from the source in each cycle.
(2) 14000 (b) 1200) (c) 1700 id) 1300 )

45

47

4k

.

51
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What happens when charge i placed on a soap
bubblc?

ia) I collapse ib) Iis radius increases

ic) lis radivs decreases (d) None of the above
Choose the amtonym for the word “ABROGATE™
(a) Transgress (b) Signify

i) Allevate (d) Ratify

Which ion i stable i aqueous solution”

@S5 (b L™ (c) Ba™ (d) Na

Colloadal particles can be separated by using:

(a) Ondinary filler paper

ib) Coarse filter paper

ic) Fune filter paper

1d) Extremely fine fiher paper
Consider the following reaction

reCi g + X g/ + L7 7
Rate= J'[Fefi ,lﬁ!chﬂc&cm
molecularly and order of the reaction respectively
) 2and2 (bl6and2ic)¥and 3  (d)Hand2
Which of the following nutrient s incomectly paired
with its {unction in plant?

in) Iron = cytochromes and chlorophyll synthesis

ib) Molybdenum — ell permesbilny

ic) Cobalt = required by mitrogen fixers

id] Calcium = formation of cell wall

Which cells are responsible for the movement of sugar
= per mass flow hypothesis”

i) Tracheids, vesel clemenis

b} Tracheids, companion cells

() Vessel clements, companton cells

id) Companion cell, sicve-tubes

After buying green bansnas o unripe avocadoes, they
can be kept im a brown bag 1o ripen. The hormone
redeased by the fruit and trapped in the hag is probably:
{a) Abscmicacid () Cytokinin

ic) Ethylene {d) Gibberellic acid
A PR AL e i DNA ey
in) Pramer ib} Probe

i) Restricionn eneyme (d] Tag polymernse
Under UV dluminstion, DNA bands are seen in
agarose due io which of the following *

{n) Agarose {b) Charge of DNA
ic) Fluorescent dye  (d) Radioactive dve

Scanned with CamScanner



35

57

al.

When a car travelling with constant velocity passes a

staiionary observer. the observer hears a change in the

frequency of the sound emmited by the car Which s

statement is comect”

(2] The cange in frequency is greater as the car moves
away than as it spproaches.

(b} The greaier the speed of the car, the grester the
change in obscrved frequency.

(c] The obacrved frequency is lower as the car moves

towards the observer and higher as the car moves
uway from the observed.

R LA L A Sy

A parachutist s falling comstant (terminal) velocity.

Which statement is not correct”

(a) Gravitational potential encrgy & converted mto
kinetic energy of the air.

(b) Gravitational potential energy s converiad into
kinetic emergy of the parachutist.

(] Gravitational potential energy B converted mio
thermal energy of the air.

{d) Gravitational potential energy & comvered mto
thermal energy of the parachutst.

The time pensod of 3 sample pendulum s 2 seconds, If

its length is imcreased by 4 times | then its period

becomes :

(a) 165 ib) 125 icl&s

Choase the comrect semience.

(a) The willage folk were present.

(b) The village folk was present.

(€] The village folks were present.

(d) The village folks wan present.

Thi number of chiral cenires in 3 molecale of 5-bromo
Y-chloro hexan-2-00 m fare:

(a) 1 b) 3 )2 i) 5

Which group when antached 1o benzene will increase
its reactivity -

(d)4s

@ =" o M @ -ca v -car
The compound which is purcly acidic is:

(a) Me(OHp @) ANOHp

Irlﬂ ]" (d) None of the sbove

Which of the following & a non-sense codoa?

(2) UGA (b) UALU (c)CAL id) GAU

If a disorder is not present in 3 child family but the
fetus itsclf is infeciod before binbit b known 257

{a] Somanc mutation (b} Hereditary mutanon

{c) Germ bme mutation (d] De novo mutaibon

LY

67.
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What will happen i & nucleotide 1s deleted from a
gene having 9 mucleotides in its transeriptional unit?
(a) Change in phenotype (b) No change in phenotype
() Synthesis of 3 amino acids

id) Synthesis of 4 amino acids

Work function for a commn surfoce W 3.26 V.
Misimum frequency | light must have in order 10 gject

clectron from surface will be:
in) 1.6x10"Hze b} 3210 Hz
{c) 4. 8x10"He (d) 7T87=10"Hz

The umit of planck’s constant is the same as that of:
() Angular momentum (b) Wark

ic) Force (d) Torque

A madicactive substace has a halfdife of 60 minuies.
During 3 hours | the percentage of the material that
decayed would be:

fn) 125% (b)R7.5% (c)8.5% (d)25.1%

While the city has camed record revenue this year,

well behind in expons,
(a) it still lag (b) it il lags
(<) it lng still {d] it lags still

The compound which can be hydrolyzed by means of
waler i

n) CCl, ih) SiCl 8

ichCHy {d) None of the abave

Chaose the correct statement aboul cycloalkanes:

i) Cyclopropane and cyclobutane are liquids at room
Temperature

ib) Cycloalkanes are insoluble in ethanol and ether but
soluble in water

i) Their melting and boiling points show a gradual
increase with increase in no of corbon.

{d) Both (b) & {c) are cormect

Which one is a strong nucleophile:

(0) E My = 0" (b} H =0~

ic) NHy (d Gl -0~

Choose the correct armangement of the various regions
of the clectromagnetic spectrum n terms of wave

lengths.
(0) LR > ww > vivible > microwave > rodio froguency

i) Afscremae S8 > gy > vivile > > naaio froguency
(<) Kol frogmeency > microwave > IR > viviie > v
id) Vindde > R > gv > sivrowne > radioware

If one of the following component is missing bacteria
can not increase the number of its plasmid copies?

() Antibiotic resistani gene (b) Origin of replication
ic) Oonmg site (d] Ligases enzymes
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Identify the mismaich pair in the followmg.

(a) Cyanobacteria- primary producer

(b) Grasshopper-primary consumer

(c) Fungi-decomoposer

(d) Zooplankion-secondary comumer

What will happen if a vector (plasmid] s cut with 2
different restriction enryme which cun the cxlcrnal
DNA w0 be incorporated m the vector (plasmid)?

(2] Ligation (b) No lgation

{c) Tight ligation  (d) Cloning

The accelerabon of free fall on the Moon is one-sixth
of that on Earth on Earth, ot takes time 17 for 3 stone

to fall from rest a distance of 2 m on the moon. What
is the time lakin of stone o fall from rest a distance of
2m en the moon?

(=] 6t {b) V6 q‘rlN’E llﬂ:&

Before a thunderstorm the bairs on yvour hesd
sometimes stand on cnd. A hair with mass 0.50 mg and

charge 1.0 pC is supported by a force due 10 an electric
ficld Ignore any forces other than the weight of the
hair and the electric force. What & the eleciric ficld

strength ?

(2] 4910 NC () 49105 N2
(€)49=10*NC™" (@ 4.9<10° NC*

Two lamps are coanccted in seres 1o a 230 v power

supply. raied 240 v, 50 w and the other &
rated 10 %, M'M.Mm I

describes what bappens 7
(2] Both lamps bight at less than their normal
brightness

(b) Both lamps light ot their normal brightness.

(€) Only the 240v lamp lights

(d) The 10w lamp blows.

Every person must keam a

{a) that how wiscly his lime can be wsed.

(b) 1o make wise use of this time.

(] that his me needs 3 wise uscs.

(d) to using his thme in 2 wisely manner.

In movies during fighting a blood red solution is using

an anificial blood Which of the followmg
mmphmunﬂhhmh!m"

(a) [FetHze)a]* ()]  CulNHy)a(Hz0)s]*
(€) [BASCYHH =)g]** (d) | KaHyOn)*

The compound which can form hydrogen bond with
waler 1=

{a) CH—~{-CH,
() CH~CH=NH;

(b) CH ~CH~OH
id) None of the above

| Fd

Lk

85

57

The compound with most exothermic lattice energy is:
) CaCl, (BKLO (c) Cald {d) BaCly
Sarcolemma i the membrane arund”?

{a) Bone (b Joins (c) Muscle fiber (d) Heant

The deficiency of calcitonin resuli in

(1) Bone formation  (b) Kidney stone

ic) Hyperthyroidivm (d) Hypothyrosdism

In which of ithe following the female workers are
sienbe?

(a) Ants  (b) Honeybee (¢) Haboon (d) Parrots

If i 3 sstuation some bacieria infecied by 5 certain,
Phages had somenow developed the ability to make a
particular amino acid that was not in their genes
before. What would be the possible explanation to this

new ability?

ia) Introduction (b) Transformation

ic) Tramsduction  {d] Conjugation

Ientify in which of the following the genctic
mformmtion is catalyzed weing reverse transciptase?
(1) Protein — DNA (b] RNA — DNA

ic) DNA —RNA  (d] RNA — Protein

Which onc is nol a opportunistic discase related 1o
HIV infiection.

{a1) Destruction of body immune sysiom

}:{ Em;‘rmhuwhm (d] Toxoplaxmiomic

A wming fork A produces 4 beats / second with
another turning fork B of frequency 280, He When fork
A b losded with a litile wax, the beat frequency
change 10 2. The frequency of fork A before loading
L H

(a) 292 He (bl 254 Hz (c) 290 Mz (d) 288 Hz
The sound wave of frequency more than 20 khz are

termed ps:
{a) Superonic {b] Audible
(¢) Infrasonic {d) Ultrasonic

The refractive index s equal to the tangent of the angle
of polanzation. It is called:
in) Brewsice's Low (b) Malu's Law

(S i ) Bt T nessage? said
the asaivtan

{a) The assstant told that be i busy and ssked me o
leave 3 messape

{b] The assistant told that e was busy and ask me to
leave a message.

{c) The assistani told that he was busy and asked me o
leave o messape.
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(d) The assistant told that he was busy and 23 ked me 10
leave a message?

The less encrgetic and more stable compound among

the following is:

{a) Cyclobutane {b) Hex: l-eme

(e] Cyclopropane  (d) Propenc

Amorphous solids sre made by fusing silicates with:
(a) Bork acwd () Adbminuen ovide

(<) Phosphorus pent oxide (d] All of the above
What s the product when chlorine gas v passed over

:mw puwh#lq.trwhﬂll # producc
id) SaCl

(2] SiClk () SaCly () SiChy
Compound resistant to thermal decomposition is:

(8] LiCOy (b) NaNOyic) BaiNGy ) id) Na OOy

If CO; level incremse from the normal level what will
happen ?

{a] Decrease in sealevel (b Increase in sea level

(c) Longer winter season  (d) Daytime will increase
Approximately bow mich calonss of free enorgy B
stored in plant biomass for every mole of Cp fixed
during photosynthesis ?

(s) 110 (b) 142 ) 114 ) 116

Which of the following vaccme has leaa ade effects
(2] Ancnusted vaccine (b) Killed vacone

{c] Subunit vaccime id) Taxokd vaccine
The energy stored in the spring of waich i
(8 ) Kinetic energy (h) Electr encrgy

(<) Elastic posemtial encrgy (d) Solar encrgy
The kanciic energy and poiential energy of a paricle
exccuning simple harmonic motion will be equal for
the displacement (where %, i the amplitude)

.:.::,ﬁ & B )22

I[nmﬂlumkﬁ-drmh
1. then the anghe made by the vector along s-axis is:
e’ )W a8t e

Which mﬂﬂﬂpﬁmm
faster than benzenc”

6 -0
5 -6

3.

4.

a8,

1.

o7,

s,

I

[} -

13,

The IUPAC name of the compound given below:
N0,

COOH
in) M- mirrobgnzene scid
ih} - nitrobenzene methanoic acid
ic) O- nitrobenzoic acid
id] None of the above
The fiest organisms that oxygenasted the simosphere:
lnlﬁwh-:lm Phatotrophic or
ic) Amacrobic wpnﬁnn id) Auurﬂm-m"
What cvent i thought to have contributed to the
evolution of cuknrvotes 7
{a) Global warming (b) Glaciation
ic) Volcanic activity
id) Oxygenation of the astmosphere
Which of these locomolor organs would likely be the
shortest 7
ia) A flagellum ib) A cilium
ic) An extended pseudopod () A pellicle
In young's double slit experiment with sodium hight,
the slits are 0.589 m apart. What is the angular width
of the third maximum given = 589 nm

- - B -
(a)Sin (34 10 ) (b)Sin (3,10 )
(<) Sim' (0,33 x 107) (d) Siz’ (0.33 = 10)

Which of the following cannot be polanzed 7

(a) Radio waves  (b) Ultraviolet ruys

ic) X-mays (d] Ultrasonic waves

When a ray of lijght enters a glass alit from air

() lts wavelength decreases

{b) Is wavelength increases

ic) s frequency increases

id) I frequency decreases

Choose the antonym of the word "UNTENABLE"
(a) Tender (b) Sheepish

ic) Saupponable {d) Tremaulous
Coagulation of proleins may be caused by
(a) Heat (b) Change in PH

(c) Heavy metal salts (d) All of the above
Kolbe's  clectrolysis of  sodium
CHyCH;CH;COON, gives:

(a) CgHyy (b CoHyy  (c) CgHye id) Gy
Chlorine gas dissolve in water 1o some exient o give:
() Yellow colored solution

{b) Greenish colored solution

butyrate
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(<] Blush colored solution id) Colorless solution

One of the following statement s troe regarding
Hasudiomycota:

(2] They are most important source of antibsotics

(b) They have known sexual stage

(<] Hyphae fise to give nse to dikaryotic mycelium
(d) The vast majorsty of spores are formed ascxually

The sprouting gametophyte of a2 moss comnnis of o
filamentous, branched structure called:

(a) Mycebum (b) Hyphae ic) Protoncma (d) Bud

Which seedless plant is a remewable source of energy 7
{a] Club mass bl Horsctail
(<) Sphagnum moss {d) Fem

Light of waves 5005 10 %m falls normally on & plane
diffraction grating having §=10*? lines per cm. The

minimum aumber of Mmages seen i:
(a) 3 b4 (€} 5 i
The speed of sound in air at NTF 300 mA. If the air

pressure become 4 times then the speed of the sound

will be:

(2] 150m/s (b) 300m /s {c) 600 m/s {d) Nose

Standing waves are produced m 10m long stretched

siring. If the stnng viberates m 3 scgments and wave

vdmﬁyhlﬂm;l.[u&mgi:

(a] 2 Hx (b)4 Hz ic) $Hz d) 10 He

Why did voul supervisor take swuch a  strong

disciplinary action when you were imnocent ?

{a) Why has such a strong disciplimary action taken by
your supervisor when you were innocent”

{b) Why was such a strong discplinary action being
taken by your supervisor 7

(<] Why was such a strong disciplinary action taken by
wyour vupervisor when you were innocent”

(d) Why such a strong disciplinary action was taken by
vour sepervisor when you were insocent”

Ka values of some compound are given below sclect

the comect osder of acadic strengthc

(2] ROH > HgO > CyHyOH > RCOOH

{b) C:H40H > W0 > ROH > ROODH

(¢) RCOOH > C;H0H > HO> ROH

{d) RCOOH > ROH > CEHYOM > =0

The compound which cannot be hydrolyred by water

s

{a) CHy = CHy=C - Br

(B CHy = CH; = 0= CH: = CHy

{e) CHI = CH2 - C - NH; (d) None of the above

KOH alcobolic + CHC(CH;k CH:Br, — The

124. Phosphorus {white] catches fire in air and burns with
the formation of white smoke the prodect formed is
{a) Fhosphors (i) oxide

ib) Phosphorus (v) oxide
() Phosphors (i) oxide {d) Both (a) & (b)
12¢ Coordination sumber six complexes having *Sp’
hybridizstion exist in:
{a) Tetrahedral shape {b) Square planar shape

ic) Trigonal bipyramadal shape (d) Octabedral shape
126, What types of hybridization i/ are preseat in Hexed

ene | -yne:

(a) (b} Sp (c)SpandSp ¥ id) Sp. Sp %, 8p’
127 In order to see variow aspects of specimen a three

dimensional image of the object can be produced

using:

{a) Compound microscope

ib) Dark-ficld microscope

ic) Transmussion electron microscope

{d] Scanning clectron microscope

128. The usual position of the two centrioles in relation to

each other is a1 right angle in:
{a) Higher plant ccll {b) Lower plant cells
ic) Animal cclls {d) Both (b) & (c)

129 In sarsted fany acids more hydrogen are not
accommodated because off
(a) Presence of single bonds between carban atoms
ib] Presence of Double bonds between carbon aloms
{c) Presence of iriple bonds between carbon atoms
id} Absence of bond between carbon atoms

130. A particle executes SHM along a strmight line. T
amplitude s A The potential energy of the particle is
equal 1o the kometic encrgy. when the displacement of
the particle from the mean position is:
(M Zero  (BILA2 (IXANVZ (d)2A

131, In S HM., the fraction of kinctic energy 1o total energy
when displacement is one-half of the amplitudes is:

WE ®m% (% d) %
132 Laplace corrected Newton's formula for the velocity of

sound in gases, because the sound propagates:
(a) As longitudinal waves (b)) Adiabatically

ic) lsothermally  {d] Under isobanc conditions
133, Rhirobium belongs to:

in) Beta-protobacieria {b) Gama.protobactcria

i¢) Alphs-protobacieria {d) Delia-protobacieria

144, Pososous red-tides in coustal arca are caused by the
blooms of:
1a) Euglenoids (b) Rhodophyta
ic) Diatoms (d) Dinoflagellates
135, Two bodies are dropped from different heights hy and
h;. The ratio of the times taken by them 1o reach the
ground will be
ib) 4 &

{a) dg‘f
id) None of them

©) f& of&

Scanned with CamScanner



136

137.

138,

139.

A buller of mass m moving with a velocity [l w fired
imto large wooden block of mass M. of the buller
remains embedded in the wooden block. the velociry
of the sysiem will be:

;lf o
(a) —» (k) »
) Mem Mem
m—u*r id) »
M= m M=-m

A panicle s moving with a comstanl speed along &
straight line. A force i NOT required to:
ia) Increase Specd

(b) Decresse the momentam
(¢) Change the dircction

(d) Keep it moving with sniform velocity

He in gricving hin deceased father,

{a) at bl for iclom (djover

Which of the following atoms in the given oxidation
state have the highest electro negativity.

(2) Mo (i) (b) Mo (1)

() MO (v} id) Mo (vi)

140 The existence of He; & mot possible becaise

141.

142

143,

144

145,

146

147.

148,

(2) It would be disproportion

(b} It would be radio active

(c) 1t violate the Pauli Exchssion principle
{d) No H - H bond would form

(1) Coecfficient of thermal expansion

(b) Lattice energy

(<) Viscosity

(d) Infrarcd Spectroscopy

i

(a) A fungus (b) An algac

(<) A protozoan {d) A prokaryole

Excess of AgyCrO, was dissolved in distilled water s
solubility was found 1o be 1.3 x 107*mol dm” what is

the solubility product:

(a) Ksp=[13x1 njnﬂ

(b) Ksp=[26x 10°F [13x1

(c) Ksp={1.3x 10”] lnln;Lf

() Ksp=[13x 10 [13x1

Double fertilrntion occurs s

(a)Pinus ib) Ferm

{c) Marchanta (d) Maize

Most conspicuous sea weeds are:

(a) Red algae (b) Blue algac

() Green algae {(d) Brown algac

An acinus s composed of:

(=) 10-20 Acinars (b)) 20-40 Acirmrs

() 20.30 Acinars () 3040 Acimars

A cocular disc of mass M and s R 5 rotsting
about ity axis with uniform speed v its kinetic encrgy
[0

(a) My MMy

(c) Y M {d) I/8 M *

Moment of inertia of an ohject does not depend upon:

149,

(a) Mass of obyect  (b) Mass distribution

i<} Angular Velocity (d) Axis of rotation

A body of maxs 10Kg is hanging from a spring balance
inside 3 1. If the 1ift falls with an acceleration |0ms ™,
then what will be the reading of spring bulance:

() Zevo {b) 2.5 Kg

{c]5Kg id 10Kg

150, That a driiver gwerves in onder 10 avoid an accident can

151

be proven by examining the marks on the pavements.
(a) Stops quickly {b) Turns sharply

(<) Hits somcthing clse {d) Goes backward

A container s having mivture of gases, 200 mmmonia,
30% bydrogen and 50% oxygen under 50atm

pressure  choose  the comect  partial  pressure
respectively.

{a) 10atm, 28 atm, 1% atm  (b) |0 atm, 1% atm, 2%
atim

(c) 2%atm, 10 atm, 15 atm  (d] 15 atm, 29 atm. 10
atm

152 A man walks for some time with velocity v due cast.

153.

154

158,

156

157.

159,

Then be walks for snme time with velocity v due north.

The average velocity for the man is:
(a) 2v b VIde) v (d) :'E

The sum of 2 forces acting at a point 16N, if the
resultant force s BN and its direction is perpendicular
to minimum force, then the foree is;

{a) 6N and 10N (b) BN and EN

{c] 4N and 12N (d)

A body walks 1o his school 3t a distance of 6Km with a
speed of IKnvh and walks back with a constant speed

of 2Km/h. his average speed for round irip in Km/h is:

(a) 2.5 bj24 ()5 (22
Though Alcem is poor, e is honest.
ia) but (b} mevertheless

(<) yet {d) sull

Which cation s unstable in aqueous solution?
{a) SK™ (b) Bi -

(c) Su™ (d) Fe "

Choose the incorrect statement about corrosion.

(8) Corronion cannol be eliminated completely.

ib) Employving modemn technigues cofrosion can be
completely eliminaies,

{c) Corresion process can be slowed down by certain
mcthods,

(d) The presence of acidic oxide in the environment

can pccelerale the process of corrosion.

AlBr3 which s used m the alkylaton of benzenc
possess the properties of!

(a) A catalyst (b) A Lewis Acid

i) An electron deficient specic

id) All of the above.

2.FADH; can yield energy:

{a) 4 ATF (b) & ATP

ic) 6 ATP (d] 10 ATP

ABO blood group 1s an example of:

ia) Muliple alleles and incomplete dominance
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(b} Codominance and incomplete domimance
(<) Incompletc dommance only
(d) Multiple allcles and condomanance

161 In a mating between Iwo individuals that are
heterorygous for 2 recewave lethal allele What
genotypic matio (homorygows domiant: heterorygours:
bomorypous recessive) would you expect 1o observe in

the offspring”
{a) 1:2:1 {b) 3:1:1
c) I:2:0 id) =21

162. How much kinctic emergy will be gaincd by an a-
particle jon going from a poimt at 70 V to another point
ol 30 V7
(alddeV () 40 KeV
i) 40 McV (d) Zevo

163. The potentials of the two plates of 3 capacitor are
+10V and -10V. The charge on one of the plates is
40C. The capacitance of the capacitor i
(a) 2F ibl4F
(c)D5F (025 F

164. In 2 simple clectrical circuit, the current in 3 resistor is
measured as (2.50 + 0.05) mA. The resastor is marked
as having a value of 4.7 0 2% If these valoes were
wsed to cakoulate the power dissipated I the resistor,
what would be the percentage uncerainty in the value
obtained?
(2) 2% (B)4% ()6 (8%

165, Choose the synonym for the word “ABRIDGE™.

(2] RREHS AP THEAD) Shoren

166. Choose the true product of the following reacton?
CHyC =N + 2Hz0 + HCT —
{a) CH, COOH + NH
(b)Y CHy COOH + NH, C1

ic) CH, COCl + NH,
(d) CH; CONH,
167 Which polystomsc anwon s enstable 0 solution.
(a) BO®  (b) $00 ¥, (c) S0%, (d)
Mn(F°,

168. Choose the molecule that could sot be represented by
single clectromic structure formula:
(a)CHy (BIH ;O () 507 (d) O,
169, Alkene + Oy — Oronide + Zn+H;0 Propanone —»
Propanal ibe IUPAC mame of the alkene n-
ia) Hex-2-ene ib) Hex-3-ene
(c) 2-methyl pent- 1-ene id) 2-methyl pent-2-ene
170, If & new bom baby powscises, caboxy hemoglobin
mstead of oxhymoglhin, the condition may be:
{a) Embolism (b) Anherosclensis

ic) Cyanosus id) Arienosclernss
171, Of 100 ml of Arterial blood, oxygen provided 1o the
tESSUCs I8
{a) 2 ml (b} 3 md
{c)4 ml {dl 5 mi

172 Nervous system thet prepares itself fight of fhght

1m.

174,

178

176

177

178,

179

180,

IR2

183,

184,

188,

(a) Para Sympathetic (b) Sympathetic

(<) Somatic (d) Peripheral

In a stream lined flow, the velocity of the liquid in
contact with the containing vesscls is:

ia) Zero ib] Minimm bat not 2ero

fc) Large {d) Infimite

Eight drops of waier, each madius 2 min arc falling
through air al a terminal velocity of Sem s If they
coalesce 1o form a single drop, the terminal velocity of
the combined drop will be:

{a) Boma™ (b) 16cms
() 24cms”’ (d) 32ems”!

The frequency of a second’s pendulum by

ia)l Hz ib) 2Hz

ic] S e id) None of the above

It is a general perception that doctors have callous
distegard for the feelings of others, (The underlined
word nearly means),

{a) Respectable {b) Careful

(<) Unfecling id) Senative

The ratio of the electnic force between two protons 1o
that between two electrons is of the order of?

(2)10% w1 ® @™ @i

When 10" clectrons are received from a neutral metal
sphere. The charpge on the sphere becomes:

(8) 0.06pc (b} -0.1pe

i) 03 2pe (d) -0.32pc

An electric charge in an accelersted motion produce:

m:guxﬁtﬂmly (bl A magnetnic
ic) Electromagnetic radiation only id) All of ihe
ahove

Choose the synonym for the word “ATTENUATE™,
(3) Appear (1) Be sbacot

ic) Weaken {d) Testify

At standard conditions 45 Hicrs of oxygen gas welghts
about &g where as 45 litem of hydrogen weights only
about 4g Which gas diffuses faster” Calculnte how
mich Easter

(8) Hydrogen 4y0; (b) Hydrogen 2 y0;,

(€] Onygen, KyHz (d) Oxygen, 3yHz
Amange the following oxide of chromium in
increasing acidic characier:

() CriieCr0y>Cr0y - (DCr0 >Cr0y>Cr0
(€) COpPCrOeCry - (GO > CrCrny

Choose Mercaptans of the following:
R R R R
(a) 8~ (b ~5(c) ~0d
R~ Hrs R H,.r
If black and white true breeding mice are mated and
the result is all gray offspring, what inhentance patiern
would thix be indicative of7
(a) Dominance {b) Codominance
{c) Multiple Allcles (d) lncomplete Dominance
The rules forbid passcngers 1o cross the milway line,
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K.

187,

(111

1589,

190

(a) Passengen were forbidden by the rules 1o cross the
railway line.

(b) Passengers are being forbidden by the rules 1w crons
the milway lime

(<) Passengens arc forbidden by the rules 1o crow the

(d) Passengers are forbad by the rules to cross the
ratbway line.

Many hexanqua complex om can undergo reaction
with water as given below: The reaction is classed as:
ia) Redax reaction ib) Acad base reaction
(¢) Decompenition reaction  (d) Substitution reaction
id 10 form
PRORETY, "M ARy or =
(al | (1]}
Cl
CH, -CH CH {1
OH
CH, -CH CH (I CH, -CH CH
(<) L] |
Cl OH OH

cucitation in a molecule:
{a) Red Colour i) Green Colour
{c) Ultra Voiler id) Nonc of the above

Which of the mg do not 2 ik I
followmg play

(a)Mbcrofilaments and mtermediate filaments

() Microfilaments and microtubules

(c) Imermediate filaments snd microtubules

(d) Only macrofilaments

Which statement ahout thylakosds in cularyotes b not
carrect”

{a)Thylakosds arc assembled into stacks

(b) Thylakoids camt as a mare of folded membeancs
(<) The space surrounding thylakosds s called stroms
(d) Thylakowds contain chloropbyll

191. The three non infective genes in HIV anc:

(b) gag. pol, vou
(d) gag. pol, env

(a) gag. pol, rev
(<) gag. pol, vpr

10

193,

1.

196,

197,

198,

199,

192 A bomb explodes on the moon, How long will it take

fior the sound 1o reach the eanh:

ia) 0 sec {h) 1000 sec

ie) | day id) None of the above
Macronutrients are:

(a)K-Mg-N-P ih) Cu-Mg-Mn-§

{c) Mn.S-P.Cu {d) Mg-Mn-Ca-P
Shagnum i abo called s

ia)Sphenopsids i) Peat mums

i) Clab mons d] Masden hair ferns

A body of mass 2 Kg collides with a wall with speed
100ms™ and rebounds with the same speed the force
exeried on the wall is 2 x 10 N, The time of coniact bs:
(2) 1150 Sec (b) 1125 Sec

i) il Sec id) 1 Sec

An engine pusnps out 40 Kg of water in one second.
The waler comes oul wvertically upwards with a
velocity of Ims, the power of engine in kilowatt is:
(a) 1 2kw (b) 12 kw

(e) 120kw {d) 1200 kw

Two boys weighing in the mtion 4% goes up stair
taking time in the ratio 5:4. The ratio of their power is:
(a) | (b} 1625 (c) 2916 (d) 45

A thofty buyer purchases fruin and vegetables in
SCELON

{The underlined word nearly means)

(3] Carefil (b Professional

ic) Disimterested {d) Healthy

]
gascs S0 G nitrogen g 1 e Wbture What B
the comcontration of N; gas in part per hillion (pph):
(ahoe x 10° b} ;e % 10°

10a08
(€rrens X 10°

(d) 2 ¢ 10

. Consader the following reactions.

i C “"HH" L"!I'l‘.

il Ny + 3H2y INHyy,

Chaoose the catalysts employed for the renction.
{a) Ni for both the reactions (i) and (i)

i) FesOy for both the reaction (i) and (i)
i) Wi for reaction (i) and Fe Oy for (i)

{d) FegOy for the reaction (i) and Ni for (i)
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